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1) LiAlH4

2) PBr3

1) n-BuLi

2) 1/2 CuI
3) O2

1) i-Bu2AlH

2) iodine

CuLi22

Li
1/2 CuI



	
Problem	56	G	

	

HOOH

HOOH

OH1) n-BuLi

2) CH2O
I

OH

1) n-BuLi
2) 3 i-Bu2AlH
3) iodine

HO

THPO

OTHP

CuLi2
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TBSO

THPO
t-BuMe2SiCl
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TBSO

TfO
1) H3O+

2) Tf2O, Et3N
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OTHP

CuCNLi

B
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OTHP

CuCNLi
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2) H3O+

3) n-Bu4NF

OTHP

CuLi2

OH

Br

O

HOTs

OTHP

Br
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1) n-BuLi

2) 1/2 CuI

BrO Br

OH

1) Ph3P CH2

2) 3-ClC6H4CO3H
3) LiN(i-Pr)2

BrSPh

O

1) n-BuLi

2) PhSCl

OH

Br
1) LiN(i-Pr)2

2) n-C8H17Br
3) P(OMe)3

O

HOTs
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2) n-BuLi

3) 1/2 CuI

n-BuLi
Ph3PCH3Br



Problem	65	G	
	

	
	
	
	
	
	

OMe
OHBr

Me2N

Oaplaminone
Tetrahedron Lett. 1990, 31, 4911

hint:   2-methoxyphenol is commercially 
available and thus the greater directing 
ability of OH over OMe can be taken
advantage of in Friedel-Crafts chemistry.
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1) Mg°

2) O
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1) t-BuMe2SiCl, 
     imidazole

2) H3O+
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Problem	65	G		continued	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

OMe
OHBr

Me2N

O
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OAc
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OAc

1) H3O+

2) Ac2O, pyr

1) Br2, FeBr3
2) KOH

3) DMSO, (COCl)2
    Et3N

OTHP

AcO

A

H

O

HO
CrO3•pyr
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1) n-BuLI

2) CH2O

OTHP

2 n-BuLi

HO

I1) LiAlH4/NaOMe

2)  iodine

1) Me2CuLi

2) Ac2O, pyr

MeLi
1/2 CuI

H2N NH2



Problem	66	G			
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1) LiN(i-Pr)2

2) CH2O

O
Ac2O
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1) (Bu3Sn)2CuCNLi2

2) Br2

H
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K2CO3, Bu4NCl
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1) n-BuLi

2) 1/2 CuCN

H
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Problem	82	G	
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1) 2 MeMgBr

2) Ac2O, pyr
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2) MeMgBr
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2) Li
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2 t-BuLi
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Problem	190	G	
	

	
	

I1) Cp2ZrHCl
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1) n-BuLi
2) B(O-i-Pr)3
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2) HO O
C

B

A

HO
(COCl)2

Me2SO
Et3N HO OH

HOTs

NN
dmphen

O

O

O

O O

enantiomer shown

ON

O

Ph

O

HO O
C

B

OHN

O

Ph

MeMgBr
O

Cl

HO

Ti(O-i-Pr)4
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Problem	192	G	
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Problem	193	G	
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3)
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i-Pri-Pr
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Problem	201	G	
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200 °C 1) 9-BBN
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O
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1) DDQ
2) DMP

HO Br
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2) TsCl



Problem	201	G		continued	
	

	
	
Problem	208	G	

	

O

O

H
OTMSNC

O

O

H

O
Me3SiCN
ZnBr2

B
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9-BBN
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O
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O
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O
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S

O O1) LiN(i-Pr)2
2) CH2O
3) SOCl2

O
BF3•OEt2

OTf1) LiN(i-Pr)2

2) (CF3CO)2O

TBSO

Bu3Sn

OTBS
Bu3Sn

A
OH

PdCl2(MeCN)2

n-Bu4NF
S

OO
SH

S
Br

MeOH, KOH Grubbs II

Ru
PhPCy3

NN

Cl

Cl

DEAD
PPh3

OH
Me3Si

TBSO

A

1) i-Bu2AlH
2) iodine
3) n-BuLi
4) Bu3SnCl

1) DMP
BrMg

3) n-Bu4NF
4) t-BuMe2SiCl
    imidazole

2)

S


